Chapter 18 Consolidated Statement of Financial Position
Answer – Exercise 1

W1
Shareholdings in S Ltd.
	
	%

	Group
	80

	Non-controlling interest
	20

	
	100


W2
Net asset of S Ltd

	
	At date of acquisition
	At the reporting date

	
	$
	$

	Share capital
	20,000
	20,000

	Share premium
	10,000
	10,000

	Retained earnings
	20,000
	25,000

	Net assets
	50,000
	55,000


W3
Calculation of Goodwill
	
	$

	Parent holding (investment) at fair value
	60,000

	NCI value at acquisition (per question)
	12,500

	
	72,500

	Less: Fair value of net assets at acquisition (W2)
	(50,000)

	Goodwill on acquisition
	22,500


W4
Non-controlling interest

	
	$

	NCI value at acquisition (W3)
	12,500

	NCI share of post acquisition reserves [20% x (25,000 – 20,000)]
	1,000

	
	13,500


W5
Group retained earnings

	
	$

	H Ltd
	70,000

	S Ltd: 80% x (25,000 – 20,000(W2))
	4,000

	
	74,000


Consolidated statement of financial position as at 31 December 2010
	Non-current assets
	$

	Goodwill (W3)
	22,500

	Property, plant and equipment (85,000 + 18,000)
	103,000

	
	125,500

	Current assets (160,000 + 84,000)
	244,000

	Total assets
	369,500

	
	

	Equity and liabilities
	

	Equity
	

	Share capital
	65,000

	Share premium
	35,000

	Retained earnings (W5)
	74,000

	
	174,000

	Non-controlling interest (W4)
	13,500

	
	187,500

	Current liabilities (135,000 + 47,000)
	182,000

	Total equity and liabilities
	369,500


Answer – Exercise 2
W1
Shareholdings in S Ltd.
	
	%

	Group
	80

	Non-controlling interest
	20

	
	100


W2
Net asset of S Ltd

	
	At date of acquisition
	At the reporting date

	
	$000
	$000

	Share capital
	500
	500

	Retained earnings
	125
	300

	Plant fair value adjustment
	200
	200

	Depreciation adj. (200/5 years x 2 years)
	-
	(80)

	Brand fair value adjustment
	250
	250

	Amortisation adj. (250/10 years x 2 years)
	
	(50)

	
	1,075
	1,120


W3
Calculation of Goodwill
	
	$000

	Parent holding (investment) at fair value
	

	Cash paid
	1,000

	Share exchange (200 x $1.80)
	360

	Deferred consideration (500 x 0.751)
	376

	
	1,736

	NCI value at acquisition
	380

	
	2,116

	Less: Fair value of net assets at acquisition (W2)
	(1,075)

	Goodwill on acquisition
	1,041

	Impairment
	(258)

	Carrying goodwill
	783


Note: the cost of the investment in H Ltd’s SFP is $1 million, i.e. the cash consideration paid, H Ltd has:
	
	$m

	Dr Investment
	1

	Cr Bank
	1


H Ltd has not yet recorded the share consideration or the deferred consideration. The journals required to record these are:

	
	$000

	Dr Investment
	360

	Cr Share capital
	200

	Cr Share premium
	160

	And
	

	Dr Investment
	376

	Cr Deferred consideration
	376


W4
Non-controlling interest

	
	$000

	NCI value at acquisition (W3)
	380

	NCI share of post acquisition reserves [20% x (1,120 – 1,075) (W2)]
	9

	
	389

	NCI share of impairment (258 x 20%)
	(52)

	
	337


W5
Group retained earnings

	
	$000

	H Ltd
	1,400

	Unwind discount (W6)
	(79)

	S Ltd: [80% x (1,120 – 1,075)]
	36

	Impairment of goodwill (W3) (80% x 258)
	(206)

	
	1,151


W6
Unwinding of discount

	
	$000

	Present value of deferred consideration at acquisition
	376

	Present value of deferred consideration at reporting date
	455

	
	79


At acquisition, H Ltd should record a liability of 376, being the present value of the future cash flow at that date.

The reporting date is two years’ liability and there is only one year to go until the deferred consideration will be paid. Therefore the liability in H Ltd’s SFP at this date is 376 x 102.

So, H Ltd needs to:

	
	$000

	Dr Income statement – finance cost
	79

	Cr Deferred consideration liability
	79


Consolidated statement of financial position as at 31 December 2010
	Non-current assets
	$

	Goodwill (W3)
	783

	Brand name (W2)
	200

	Property, plant and equipment (5,500 + 1,500 + 200 – 80)
	7,120

	
	8,103

	Current assets
	

	Inventory (550 + 100)
	650

	Receivables (400 + 200)
	600

	Cash (200 + 50)
	250

	Total assets
	9,603

	
	

	Equity and liabilities
	

	Equity
	

	Share capital (2,000 + 200)
	2,200

	Share premium (0 + 160)
	160

	Retained earnings (W5)
	1,151

	
	3,511

	Non-controlling interest (W4)
	337

	
	3,848

	Non-current liabilities (3,000 + 400)
	3,400

	Current liabilities (1,250 + 650)
	1,900

	Deferred consideration (376 + 79)
	455

	
	9,603
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